pcs_reset = ON
+ hi_rfer +
Iblock_lock

v

RECEIVE_INIT

rx_raw <= IBLOCK_R

RX_AGGREGATE

— v

RECEIVE_DATA

rx_raw <=
DECODE(rx_coded<81:0>)

RX_AGGREGATE
* Irx_lpi_active

RX_AGGREGATE
* rx_lpi_active

I 4 \ 4

RECEIVE_LPI

rx_raw <= LPBLOCK_R

RX_AGGREGATE

. . RX_AGGREGATE
* rx_lpi_active -

* Irx_lpi_active

RECEIVE_WAKE

rx_raw <= IBLOCK_R

RX_AGGREGATE *
rx_wake_frame_complete

NOTE—Transitions inside dashed boxes are only
required for the EEE capability

Proposed Revision to Figure 97-15 — PCS Receive state diagram



